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(Williams第三版的Ch10, Ch12，只標示Ch10，其餘是Ch12)

總體2004/下     第二次考試     班級：           學號：           姓名：

Williamson Ch 9-10  (2004/5/27, 9:10-10:50 am)           

Total:100 points
I. 單選題Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

1) To support the argument for an active role for government in stabilizing the economy, it must be true that

a) consumers are not rational and that not all wages and prices are flexible.

b) not all wages and prices are flexible and that government must be able to react quickly enough.

c) government must be able to react quickly enough and that shocks to the economy be primarily due to aggregate supply shocks.

d) shocks to the economy be primarily due to aggregate supply shocks and that consumers are not rational.

2) The LM curve is upward sloping because

a) money demand is positively related to output and negatively related to the interest rate.

b) money demand is positively related to output and the real money supply is negatively related to the price level.

c) money demand is negatively related to the interest rate and the real money supply is negatively related to the price level.

d) none of the above.

3) An increase in future total factor productivity shifts the

a) IS curve to the right.

b) IS curve to the left.

c) LM curve to the right.

d) LM curve to the left.
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4) A model in which some goods must be purchased with cash on hand is called a

a) monetary model.

b) cash-in-advance model.

c) circulating cash model.

d) real business cycle model.

5) In the intertemporal monetary model, the effects of a temporary decrease in total factor productivity include

a) an increase in the real interest rate and an increase in prices.

b) an increase in the real interest rate and a decrease in prices.

c) a decrease in the real interest rate and an increase in prices.

d) a decrease in the real interest rate and a decrease in prices.

6) In the Keynesian sticky wage model, the aggregate supply curve is upward sloping because, at the fixed nominal wage, an increase in the price level
a) increases the real wage and increases labor supply.
b) increases the real wage and increases labor demand.
c) decreases the real wage and increases labor supply.
d) decreases the real wage and increases labor demand.
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7) The double coincidence of wants problem is solved by

a) credit markets.

b) government intervention.

c) the use of money.

d) specialization.
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8) The income velocity of money is defined as
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9) The Fisher relationship may be described by the following equation in which R is the nominal rate of interest, r is the real rate of interest, and i is the inflation rate:
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10) In the Keynesian sticky wage model, an increase in current total factor productivity

a) increases output and increases the real interest rate.

b) increases output and decreases the real interest rate.

c) decreases output and increases the real interest rate.

d) decreases output and decreases the real interest rate.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. 申論分析題：請做圖並說明過程。 (Total: 60 points)

答案請直接寫在題目卷上。
Ch10
1.
Suppose that there is an increase in the number of ATM machines in service.  In the monetary intertemporal model, what are the current effects on aggregate output, employment, the nominal interest rate, and the price level?  Please draw graphs and explain your results.  (10 %)
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2.
In the monetary intertemporal model, suppose that the money supply is fixed for all time.
(a) Determine the effects of a temporary increase in the quantity of government purchases on current equilibrium output, employment, the real wage, the real interest rate, the nominal interest rate, and the price level.  Please draw graphs and explain your results.  (12%)
(b) Suppose that the increase in government spending is permanent.  How does this change your answers from part (a)? Explain.  (5%)
3. In the sticky wage model, suppose that the economy is initially in a long-run equilibrium.  Please draw graphs and 

(a) Explain why money is not neutral in the short run. (12%)

(b) 
Explain why money is neutral in the long run. (6%)

4.
Suppose that government spending increases temporarily in the sticky wage model.

(a) What are the effects on real output, consumption, investment, the price level, employment, and the real wage?  Please draw graphs and explain your results. (12%)

(b) What is the implicit assumption on the financing method of government spending in (a)? (3%)
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